10. - Write short notes on the following : .
(a) Steam Turbine:
“(b) Rankine cycle. |
(c) Saturatﬂd and supﬂrheated steam.

"L{};]F- Bc:ﬂer mnuntings ami accessories.

(d) Ductility of metal, .
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(ii) In case of any doubt or dispute the English
Versiorn queatmn should be ftrea‘ttd as final.
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(ii1) Assume your own. data il missing.
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I. Choose the correct answm‘,
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[i} - §A iﬂ cm M. S. 1:}{:1 extﬂndgd a:;lue to lﬂad to a
~ length of 10.1 n::m Then thg yalue of strain

shall be

(a) 0.1
b) 001
{c) 187 DEJI

(d) . 0.0001
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(F) 01
(&) 001 |
(9) 0.001

- {¥) 0.0001
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- (ﬂ] Which one of the element in caghdron malkes
I casting work < easy but increases its bﬂtﬂeness
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{_ﬁi} A simply suppm'ted beam {}f length L-metre

~having W tonne load on its centre, then the
;. shear force at the ﬂnﬂs ﬂf b&am is equa.l to

'.i:[a] WK L tonnes
-I - {b] tﬂnneﬁ
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(iv) - Pelton wheel is a turbine 'Df
(a) Impulse rﬂan:tiun turbine. o
b) . Impulse - A
(c) Reaction

(d) Steam operated 2 |
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B\20 Campmssiﬁn ratio of Diesel Engme is
| | (@  mpre than petrol engme
[b] le&-a than pﬂtl‘ﬂl engine
| “equal to petrol engine -~ _
{d} deyﬂnds on shape of cylmder | 2
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9. (a) Explain stress-strain diagram for mild steel
with a neat sketch and show varmus points on
it. 5
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(b) An Iron Rod 20 c¢cm diameter and Iength 300 cm

is loaded with a weight of 4 tonnes. Calculate the

elongation due to weight. E for iron 2 x 10°
N kgf cm? 5
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6.

Compare Fire tube boiler and Water tube boiler. Draw
2 neat sketch of water level indicatnr and. l:xpiam its

function.

A four struke engine haﬂng ‘diameter . of burc 200

‘mm, length of stroke 980 ‘mm, runs at 300 r.p.m.

f 5.6 kg/cm?.
working on mean effective pressure 0
Torque on brake pulley is 24 kg-m. Calculate the

10
mech. efficiency of the engine.
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The temperﬁture ﬂf an 1deal gas is 10°C The gas is
heated upto the mark, when the pressure and volume

is doubled. Calculatﬂ the temperature of the gas aftfé

0 %lﬁvﬁmﬂﬁﬁﬁm
& aed = &1 A 10°C By i

heating.
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[a] DEfiﬂE .Bemnuﬂi S thenrem and explain a
terms used in it.
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(b) How discharge of water can be estimated by

using Bernoulli's theorem ? -
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Write objects of Heat-Treatment (at least foun).. 4 -
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Compare Annealing and Normalising process ‘of
heat treatment. . 4
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Write names of Quenching medium. 2
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Define Beam. Write various typqs of Beams. B -2
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Show various t}rpes nf lﬂading ﬂn beam by
sketches. -3
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A cantilever beam is of 6 m long. On centre a
point load of 4 tonnes ‘is applied and 0.5
ton/metre is spread from free end of the beam to-
the centre of the beam. Draw its'bending
moment diagram. B
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Compare the working principle of Diesel and
Petrol Engine. 5
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Draw a neat sketch of four-stroke Petrol Engine
and show all parts on it. | 5]
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